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S.SaaBr s Saacr =2 3

(3) BL AC Lfks i K, 7% BK, A

it ept e s Tkt Aol iy
- R T R

____________

(5 HI )
™R, ACKT, ABKT #ZEBEM =M,

L LCKT = ZBKT = 45°,

S LBKC =90°=ZBKA,

BK V313 313
AB 125 13 °

TS} %*3

c.sin A=

(1) Bk 05 G, H, 8 GHXX ACT D, % BD, BD HINFTR;

1971, FL 2910



(2) BUks 5 P, O, ¥EHE POAE BC T F, ¥EH: AF, & FEIVRFTR,
(3) Bl AC _FIH% 5 K, %8 BK, W3R LZOKT = /BKT = 45°, # /BKC =90° = /BKA, Mifi

BK V3+3 313
AB  J12+52 13 °
AR A AR - S BT P, AR AR S B SR R (KRR A R AL S A R IR

22. L% ZEY (DAE#: -~ AABC HED =Y,

sin A =

/B =/C =60,

. /BDF + /DFB =180° — /B = 120°,
"+ /DFE = 60°,

. /DFB+ /EFC = 180° — 60° = 120°,
-./BDF = /EFC,

- ABDF «» ACFE,

(2)f#: - DELEF, /DFE =60°,

. ZEDF = 30°,

- DF =2EF,

i (1)41: ABDF «» ACFE,

_DF BF
“"EF  CE 7’
EC =1,
. BF =2.

LT (1) MR8 R rp 2 AT 4 2B = ZC = 60°, BIATHEH ZBDF + ZDFB = 120°, {4 Z/DFE = 60°
W /DFB+ /EFC =120°, iE# ZBDF = ZEFC, RIA[iEH ABDF «» ACFE

(2) #4530 MM E M = MM DF = 2EF , 454 (1) Rk BF K.

KRR T EEE T A=A T 04 5E S5 Y5 DL S0 = M TR BT, e B2k ) ABDF il ACFE L.
23. [ %) (1) iE¥: &E# oD,
LCOD =2/4A, ZDCB =2/A,
. ZCOD = /DCB,

LACB =90°,

- /COD+ /0CD = /DCB + /OCD = /ACB = 90° , A 0 E C
+./ODC = 180° — (/COD + ZOCD) = 90° ,

- OD 2 004z, HDC1loD,

2070, 3297



- DC & 00 4.

(2)f#: ECFLAB T F, W /CFB = /ACB = 90°,
- /BCF=/A=90°— /B,

AE 2 00 K HEAT,

. ZADE = 90°,

-./BDE = 90°,

. /B+ /CED =360 — ZACB — /BDE = 180°,
-+ ZOED + /CED = 180°,

./B=/0FED,

o /LDCB = /ZDOF,

. ADCB < ADOE,

. ZCDB=/Z0DFE,

.-OD = OF,

.. ZLOED = LZODE,

. /B=/CDB,
-.BF =DF,
BF 1
ﬁ =tan Z/BCF = tanaA = 5 BC =5,
.CF =2BF,

-.BC =\/CF?+ BF? = \/(2BF)*+ BF? =\/5BF =5,
.BF =5,

..BD=2BF =25, CF=2BF =25,

. Sappe = %BD-CF = % x 25 x 2v/5 =10,

- ADBC [y A 10.

L) (1)i%E#: oD, W £COD =2/A, /DCB=2/A, 18 /COD = /DCB, |

ZCOD+ £0CD = Z/DCB + £0CD = ZACB =90°, FrLh Z0DC = 90°, BIW[iER DC & 00 HY)k;
2)fECFLABT A F, W /BCF =/A=90°— /B, W ZADE = /BDE =90°, il

/ZB+ ZCED = 180°, i ZOED + ZCED =180°, fibl 4B = ZOED, WiEH# ADCB <> ADOE, |

/CDB = /0ODE, WN/0OED = /ODE, fibl/B=/CDB, W BF =DF, H

2170, 3297



@ =tan /BCF = tanaA =

rela , f#CF =2BF, W BC = \/CF?+ BF? = V5BF =5, fitL BF = V5,

N |

W BD =2BF =2V5, CF=2BF =2V5, K13 Sappc= %BD-CF = 10.

SO R A e B DIZR A e e L SRR S [ A AR S AR = M TR
HI SR AfER . BUA = MRS EA = AR, IERHAE BT 75 2 0% B 22 i ) B
24. [%2] 10000(1 + 3z) 0.6(1 — x)

CianT ] fg: (1) OMR4E B A5 10000(1 + 3z) ;

@ “IEIRRFEE K Ok ) A 0.6(1 — ) ;

M2 hy: 10000(1 + 3z) ; 0.6(1 — )

(2) iz 10000(1 + 3z) x 0.6(1 — x) = 7020

%@:%:%>&a%z),@:&L

Mz=0.1,

e x ME0.1.

(1) OB HAH EZ I — VB BOBK K 7 8 P PR 10 E 73 3210 3 4%, 15 H 58 BRI
AH

@F F EZ M5 — BRI P 3525 K (K 15 23 20k o, BT FROR H 38— BRI P 8 K OK2B ) »

(2) MR R 3t B8 BRI B BE B, JETI AR R 2.

WA T — U IR AR NI, AR R R R A BRI D B S B KR R R DG

25. [%%]) fi#: (1) BOLAF, E
. /BCF =90°,
‘+/BFC =53, CF =6m,
BC BC 4 B

: /BFC =—-— =22 = _
. tan C CF G 3 .

D
.‘.BC:87 -'""',.-r"‘.

A ¢ : M

LBC e ¢ F
CAC T T

- AC =2BC = 16,
. EHIKFEEE AC N 16m;
(2) K ED 3 AC T G,

N 2AGD = 90°,

2270, 3297



b6 1
TAG 2

’

WAG=2xm, DG=xm,

D:\/m:\/gx:S,
=5,
- AG =2v5m, DG =+5m>
S FG=AC—-AG+CF =16—-2V5+6= (22 —2V5)m

EG EG
RtAEFG i, tan/EFG=—=—— _ =~
& il " FG 22-25

4x(22-2V5) 83-8V5
3 N 3

Qo W~

(m) -

S EG =

- DE = EG - DG = _38‘/5 — V5~ 17.2(m) »

& W DE 25 17.2m.
[ighr] (1) iR3EEE N XAFE] ZBCF = 90°, MR¥E = & £ 2 R AT 153 3 4518
(2) #EK ED XL ACT G, BFI LAGD =90°, % AG =2xm, DG =axm, HRIEAKEHAEE
D =+\AG?+ DG = bz =5, K AG =2V5m, DG =+bm, 5%
FG =AC — AG+ CF =16 — 2V5 + 6 = (22 + 2V5)m , HH4E =M BB & L5345 .
AR T A T A = 0 00 IS0 P AV R O A 0 R, A A = R (S P - DR R TP R, IR AR A B 2k
i R S
26. DHZET (1) . i
N M(—4,m)(m > 0) 7% IR BN R L,

, y=az’— (a+b)x+b=(ax—b)(z—1),

oI

o (=4a—1b) x (=5) > 0.

c.—4da—b<O0.

co—4da < b.

So—4da+a <a-+b.

S.a+b> —3a.

Ma<0,

sa+b>—-3a>0, Bla+bHIE.

(2)iEM: 1 ()y =az®— (a+b)z + b= (ax —b)(z — 1),
S THEERE S as b, BAH =10, y=0.

52300, 3k 29m



SRR 2L E 1 P(L,0).
T EH Yy = (K + 3)z + 3k(z > 1),

M =10, y=k+3+3k

9 3
_ 1.2 .Y
=K+ 3k 4

B 3.9 3
_4k+§)+z

AR b 2= LAy > >0

S WLy = (K4 3)z + 3k(z > 1) R A IS EE T4 P(1,0).

L] (1) @RI, v = a2’ — (@ +b)w+b= (az —b)(z — 1), XM (~4,m)(m > 0) fEi% KA E K
Gk, W (—da —b) x (=5) > 0, i —da < b, FEASSE AAPE B AT LU A

(2) el sz, t1 (1)y = aa® — (a + bz + b= (ax — b)(x — 1), W TEBM T L a b, #H L2 =18, y =0,

IR R MR R A P(L,0), FEART Ry = (B + 3o+ 3k(x > 1), Yo =11,

3.,
2
A EEHE T KR E R SR, SN AR SR Al R S AR k.

Y= K343k = (k4o 0, TR TERM b Yo = LRy > 5 >0, SOTHITEE.

27. [ %1 1(—1,_2)

3 1
mﬂﬂﬁ&(U%A&&MRAyzﬁhwWA,
1
{%§x16—4b—4:0,
ﬁg/%lzb: 1’

AR Ry = 2%+ 4,

1 9
WISy = (v + 1)*— o

v — s 9
ISR (-1, —3)

WEZEN: 1, (—1,-
(%Exzoﬁky:%ﬁ+x—L

/T%“y - 74 ’

cOE CIAERR RN (0,—4)

HS PTELRE: DE &, & P ER A (—1,a),

22470, 32971



il —g<a<0,

- Q(k,0), C(0,-4),

S PQ*=(k+1)Y2+d®, CPP=1+(a+4)*, CQ*=k+6,
- PQLPC,

S ZQPC = 90°,

% RtAQPC v, CQ?= PQ*+ CP?,
K16 = (k+ 1) +a’+ 1+ (a+4)°,
BIELE=—(a+2)°+3,

<a<0,

l\D\QD

9 13
SHa= 2R KBREHROK 35 Ha =~ B KIREHRVIME

—— < k<3

4 ~ k ~ 3 9
(3) LR 43, ZDBA = /DAB,
-+ /DMN = /DBA,

. /DMN = /DBA = /DAB,
oy = 0Ny = o+ 4,
1S =4, x2=2,
B AR R (2,0)
B M AR AR (m, 0)
R MAELR B AB & (Fum )
L —4<m<2,
O#% DN =DM, W /DMN = Z/DNM ,
+/DMN = /DAB,
. /DAB = /DNM ,
BRNESRARESG, WAME5RBES,
M AERR A (2,0)
@%# DN = MN, W /ZDMN = /ZNDM ,

"+ 4LDMN = /DAB,

#2501, 3L 29m



. LNDM = £ZDAB,

S AM =DM,
2, 92
Bm+4+4=1/(m+1) +(§) )
y 7
ﬁggfng’

Mt (L 0)

®% MN =MD, W /MND = /MDN ,
- /ZAMD & ABDM {5 i,

- Z/AMN + /DMN = /BDM + /DBA,
- /DMN = /DBA,

- /AMN = /BDM ,

“MN=MD, LMAN =/ZDBM ,

. ANAMN < ABDM(AAS) ,
AM:B.D7
m+4:3\/13,
2
ﬁ@’%ng\/l?’_g,
2
;aMW%ﬁﬁﬁvg‘ﬁm;
D i v — / — 7 -
G ERiE, % ADMN REE=Sl, WMty (2.0), (o), CH2=50)

(UEAP&mﬁAy:%f+M—4,iﬁb%@,ﬁ%:&@ﬁ%ﬁﬁ@ﬂ*ﬁﬁﬁ%%ﬁ;
(2) 14 PAERE DE b, BUR PSSR (—La), W~ <a <0, Q(K0), CO,—1),
PQ*=(k+1)°+d>, CP’=1+(a+4)?, CQ*=k+6, ERAQPC i, I CQ* = PQ*+ CP?%|

TR k= —(a+2)°+ 3, HIE o FHUETEE R AR & U

(3)iFH] /ZDMN = /DBA = /DAB, 3R m WBUETEHE, 73+O% DN =DM ; @% DN = MN; 3
HMN =MD, =FE0L0T1E, 456 %= MMM I R A M AR,

REEE T T RBUFRRENT N, ARoEH, SE=MBNEIER SHE, KRS SE=AIET
FEEVERI R, AR DGHE R AEIR B H S I = TR 50, R 20 280 10 SE AR A e ) R

2671, 32971



V3

28. [ %] fif: (1)RtAADE, AD=+/3, tan ZADE = 5

B3
AD 3
AE =1.

3
2 ’

m/ _
L x 27 x V?

1
SAABC—§ABXAC—§ 3

%Jﬁ

Swingppor = Saasc — Saape = G

1 1
SAADEziADxAEzﬁx 3x1=

SaapESwimppee = 3: 25.

(}H2)

w2, %45 BD LKA ACT O, &£ CET H,
RtAABC F1 RtAADE, /BAC = /DAE = 90°

o 4LBAD = /ZCAFE,

AB _ T _ g
AC 2\/_ s
3

AD V3
AE 1 = V3
AB AD

S AABD o» ANACE ,

o LABD = ZACFE,

" LAOB = /ZHOC,

S.LBAC = /ZCHO =90°,

S DHICE,

‘ LADF + LZAEF = 180°,

S /LDAE + /DFFE = 360° — 180° = 180°,
" LDAE =90°,

ADFE = 900 ’

22770, 3297



~.DF1CE,

~.DH, DFZEAM.
~.B, D, FE—%H%Z%FE,
S ABFCZHEM—MI,
G4 BC I 4,

1
..FG—§BC'.

RtAABC, /BAC =90°, AB=2V7, AC =

-~ BC? = AB?> + AC?,

- BC— 4v/21 ,

{ H3)
Ok 3, B, M, Eff—%HZ b, %45 BD,

ANABD «» NACE,

BD AD
cr=ap="V
W ADMEYY, DM =AFE=1, /DME =90°, ZAEM = 90°

AB? = AE? + BE?,
BE = /AB?2 — AE? = /28 — 1 = 3/3.

BM = BE — ME =3V3 - V3 =2V3,
- /BND =90°,

BD? = DM? + BM?,

22871, 3297



( 4 )
@K 3, B, M, Eff—%H%Z b, %4 BD,

BM =BE +EM =43,

BD=+v1+48=17,

_BD_7V3
V3 3

CE&%@EX&??.

CE

Cienr] (D) FAIEDI K%, K AE MK, Hili AADE, AABC[WiHA, 132108i4J% DBCE WH, K
THFAEE.

(2) i 2, %45 BD IHEKAE ACT O, % CET H, iFW] AABD «» AACE, /ABD = /ACE, F5H
/DHC =90°, DHL1EC, Cf1DFLEC, Fill DHM DF &4, GF R2BEM=MILRHAMHL, ST/}
i1 BC H1—2F, Hla) g BK it BC RIA].

(3) &l 3, & 4, %45 BD, 24 B M. E = SILEL, APIFTT RS, Je A e f sk il BD, AABD «» ANACE

BD _ AD
CE AC

RUEE T EIEITeS:, =M, MU=MBRE e, Ba =B, BRER, K2
INGHBhEL, HEMLL =AM, LB A,

» ARCE.

2971, 3297



